

Břetislav Novák

A remark on the theory of lattice points in ellipsoids. II.

Commentationes Mathematicae Universitatis Carolinae, Vol. 9 (1968), No. 4, 547--561

Persistent URL: <http://dml.cz/dmlcz/105198>

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1968

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

A REMARK ON THE THEORY OF LATTICE POINTS IN ELLIPSOIDS II

Břetislav NOVÁK, Praha

The aim of this remark ¹⁾ is to refer to the use of a certain "dual" relation in the theory of lattice points in ellipsoids. Combining the basic identity (see Theorem 1) with some author's previous results it is possible to deduce a number of interesting O -estimations. In this paper there are made use of certain ideas, which can be originally found in Landau [2].

In the following let r be a natural number, $r \geq 2$. Q let be a positive definite quadratic form in r variables whose determinant is denoted by D , \tilde{Q} be the form conjugated with Q . Let further $\alpha_1, \alpha_2, \dots, \alpha_n$ and b_1, b_2, \dots, b_n be systems of real numbers and M_1, M_2, \dots, M_n a system of positive real numbers. For $x \geq 0$ let us define the function $A(x)$ as follows

$$A(x) = A(x; Q, \alpha_j, b_j, M_j) = \sum e^{2\pi i \sum_{j=1}^n \alpha_j u_j}$$

where the summation runs over all systems u_1, u_2, \dots, u_n of real numbers, which satisfy the relations $Q(u_j) = Q(u_1, u_2, \dots, u_n) \leq x$ and $u_j \equiv b_j \pmod{M_j}$, $j = 1, 2, \dots, n$.

1) As part I of the presented work (which is independent) is considered the paper [5].

If we put as usual

$$V(x) = \frac{\pi^{\frac{k}{2}} x^{\frac{k}{2}} e^{2\pi i \sum_{j=1}^k \alpha_j \beta_j}}{\sqrt{D} \prod_{j=1}^k M_j \Gamma(\frac{k}{2} + 1)} \sigma$$

($\sigma = 1$ if all numbers $\alpha_1 M_1, \alpha_2 M_2, \dots, \alpha_k M_k$ are integers, $\sigma = 0$ otherwise) then for the function

$$P(x) = A(x) - V(x)$$

hold as known (see [2] pp.11 and 71) the estimates

$$(1) \quad P(x) = O(x^{\frac{k}{2} - \frac{k}{4} + 1}) \text{ and } P(x) = O(x^{\frac{k-1}{4}}),$$

(we shall exclude from our considerations the case where $A(x) = 0$ identically).

Let further $0 < \lambda_1 < \lambda_2 < \dots$ be the sequence of all values of the form $Q(m_j M_j + \beta_j) > 0$ with integer m_1, m_2, \dots, m_k , $\lambda_0 = 0$, and for integer $n \geq 0$ let

$$a_n = A(\lambda_n), \quad a_{n+1} = A(\lambda_{n+1}) - A(\lambda_n).$$

Thus

$$A(x) = \sum_{\lambda_n \leq x} a_n.$$

For φ complex, $\text{Re } \varphi > 0$ let us put

$$A_\varphi(x) = \frac{1}{\Gamma(\varphi)} \int_0^x A(t) (x-t)^{\varphi-1} dt$$

and analogously let us define the functions $V_\varphi(x)$ and $P_\varphi(x)$. If we put $A_0(x) = A(x)$, $V_0(x) = V(x)$, $P_0(x) = P(x)$ then for nonnegative φ obviously

$$P_{\varphi+1}(x) = \int_0^x P_\varphi(t) dt, \quad V_\varphi(x) = \frac{\pi^{\frac{k}{2}} x^{\frac{k}{2} + \varphi} e^{2\pi i \sum_{j=1}^k \alpha_j \beta_j}}{\sqrt{D} \prod_{j=1}^k M_j \Gamma(\frac{k}{2} + \varphi + 1)} \sigma$$

etc.

Let the letter c denote (generally various) positive constants, which depend at most on Q , α_j , b_j , M_j ($j = 1, 2, \dots, r$). The relation $A \ll B$ means that $|A| \leq cB$. The symbols O , σ and Ω are meant in the usual sense. For s complex, $\operatorname{Re} s > 0$ put

$$\Theta(s) = \sum_{n=0}^{\infty} a_n e^{-\lambda_n s}.$$

As known, the function $\Theta(s)$ is a holomorphic function in the half plane $\operatorname{Re} s > 0$.

In the introduced way the functions $A(x)$, $V(x)$, $P(x)$, $A_\varphi(x)$, $\Theta(s)$ etc. and the numbers σ , λ_n , a_n ($n = 0, 1, 2, \dots$) correspond to the form Q and to the systems of numbers α_j , b_j , M_j ($j = 1, 2, \dots, r$) (in this order). The functions $\tilde{A}(x)$, $\tilde{V}(x)$, $\tilde{P}(x)$, $\tilde{A}_\varphi(x)$, $\tilde{\Theta}(s)$ etc. and the numbers $\tilde{\sigma}$, $\tilde{\lambda}_n$, \tilde{a}_n ($n = 0, 1, 2, \dots$) we shall design for the form \tilde{Q} and systems of numbers b_j , $-\alpha_j$, $1/M_j$ ($j = 1, 2, \dots, r$) (in this order) analogously. If we choose for s complex, $\operatorname{Re} s > 0$ the branch $s^{\kappa/2}$ in such a way that it will be positive for positive values of s , then as known (see [1] p.108) for the s considered holds

$$(2) \quad \Theta(s) = \frac{\pi^{\kappa/2} e^{2\pi i \sum_{j=1}^r \alpha_j b_j}}{\sqrt{D} \prod_{j=1}^r M_j s^{\kappa/2}} \tilde{\Theta}\left(\frac{\pi^2}{s}\right).$$

Let us note, that obviously $a_0 = \tilde{\sigma}$, $\tilde{a}_0 = \sigma$ and

$$\tilde{V}(x) = \frac{\pi^{\kappa/2} x^{\kappa/2} e^{-2\pi i \sum_{j=1}^r \alpha_j b_j} \sqrt{D} \prod_{j=1}^r M_j}{\Gamma(\kappa/2 + 1)} \tilde{\sigma}.$$

The dual relation referred to in the introduction is given in the following theorem.

Theorem 1. For ρ complex, $\operatorname{Re} \rho > \frac{1}{2}$, $x > 0$ holds

$$(P(x) - a_0)_\rho = P_\rho(x) - \frac{a_0 x^\rho}{\Gamma(\rho+1)} =$$

$$(3) = \frac{x^{\frac{1}{4} + \frac{\rho+1}{2}} e^{2\pi i \sum_{j=1}^k \alpha_j \theta_j}}{\pi^{\rho-1} \sqrt{D} \prod_{j=1}^k M_j} \int_0^\infty (\tilde{P}(\xi) - \tilde{a}_0) \frac{J_{\frac{1}{2} + \rho} (2\sqrt{\xi x})}{\xi^{\frac{1}{4} + \frac{\rho+1}{2}}} d\xi,$$

where $J_\nu(x)$ is the Bessel function of the 1st kind and in the integrand we put $\arg x = \arg \xi = 0$.

Proof. If ρ is complex, $\operatorname{Re} \rho > 0$, $a > 0$ then obviously

$$A_\rho(x) = \frac{1}{2\pi i} \int_{a-i\infty}^{a+i\infty} \frac{e^{xs}}{s^{\rho+1}} \Theta(s) ds,$$

where the integration is to be taken over the line $\operatorname{Re} \rho = a$. If we now use the relation (2) we find that for $\operatorname{Re} \rho > \frac{1}{2}$ we can according to the trivial estimate

$$\sum_{\tilde{\lambda}_n \leq x} |\tilde{a}_n| \ll (x+1)^{\frac{1}{2}}$$

interchange the summation and integration. For $A > 0$, $B \geq 0$ however

$$\frac{1}{2\pi i} \int_{a-i\infty}^{a+i\infty} \frac{e^{As - \frac{B}{s}}}{s^{\frac{1}{2} + \rho + 1}} ds = \frac{A^{\frac{1}{2} + \rho}}{\Gamma(\frac{1}{2} + \rho + 1)} \text{ for } B = 0$$

$$\left(\frac{A}{B}\right)^{\frac{1}{4} + \frac{\rho}{2}} J_{\frac{1}{2} + \rho}(2\sqrt{AB}) \text{ for } B > 0.$$

For ρ complex, $\operatorname{Re} \rho > \frac{1}{2}$ we thus obtain a general

form of Landau's relation, as deduced in [5]

$$(4) \quad A_{\rho}(x) = \frac{\pi^{1/2} x^{1/2+\rho} e^{2\pi i \sum_{j=1}^n \alpha_j l_j}}{\sqrt{D} \prod_{j=1}^n M_j} \sigma +$$

$$+ \frac{x^{1/4+\rho/2} e^{2\pi i \sum_{j=1}^n \alpha_j l_j}}{\pi^{\rho} \sqrt{D} \prod_{j=1}^n M_j} \sum_{n=1}^{\infty} \tilde{\alpha}_n \frac{J_{\mu/2+\rho}(2\pi\sqrt{\tilde{\alpha}_n x})}{\tilde{\alpha}_n^{1/4+\rho/2}}.$$

Now let us consider that for an arbitrary function g with a continuous derivation on the interval $\langle \tilde{\lambda}_1, T \rangle$ ($T > \tilde{\lambda}_1$) holds

$$\sum_{\tilde{\lambda}_1 \leq \tilde{\lambda}_n \leq T} \tilde{\alpha}_n g(\tilde{\lambda}_n) = (\tilde{A}(T) - \tilde{\alpha}_0) g(T) - \int_{\tilde{\lambda}_1}^T (\tilde{A}(\xi) - \tilde{\alpha}_0) g'(\xi) d\xi.$$

If we choose

$$g(\xi) = \xi^{-1/4-\rho/2} J_{\mu/2+\rho}(2\pi\sqrt{x\xi})$$

and consider that $\tilde{A}(\xi) - \tilde{\alpha}_0 = 0$ for $\xi \in \langle 0, \tilde{\lambda}_1 \rangle$,

$\tilde{A}(\xi) - \tilde{\alpha}_0 \ll \xi^{1/2}$ we get, using the limit for $T \rightarrow +\infty$ and substituting in (4) immediately

$$(5) \quad P_{\rho}(x) = \frac{x^{1/4+\rho/2} e^{2\pi i \sum_{j=1}^n \alpha_j l_j}}{\pi^{\rho-1} \sqrt{D} \prod_{j=1}^n M_j} \int_0^{\infty} (\tilde{A}(\xi) - \tilde{\alpha}_0) \cdot$$

$$\cdot \frac{J_{\mu/2+\rho+1}(2\pi\sqrt{\xi x})}{\xi^{1/4+\rho/2}} d\xi.$$

If α is real, $\alpha > -1$, then for ρ complex, $\text{Re } \rho > 2\alpha - \mu/2$ following well known relation for the Hankel transform holds (see [6]p.435)

$$(6) \quad \int_0^{\infty} \frac{J_{\mu/2+\rho+1}(2\pi\sqrt{\xi x})}{\xi^{1/4+\rho/2} - \alpha} d\xi = 2(4\pi^2 x)^{1/4+\rho/2-\alpha} \cdot \int_0^{\infty} J_{\mu/2+\rho+1}(t)\sqrt{t} t^{2\alpha-\rho-\frac{\mu+1}{2}} dt =$$

$$= \pi^{\frac{\kappa}{2} + \rho - 2\alpha - 1} x^{\frac{\kappa}{4} + \frac{\rho-1}{2} - \alpha} \frac{\Gamma(\alpha + 1)}{\Gamma(\frac{\kappa}{2} + \rho - \alpha + 1)} .$$

Using this relation for $\alpha = \kappa/2$ we obtain

$$\frac{x^{\frac{\kappa}{4} + \frac{\rho-1}{2}} e^{2\pi i \sum_{j=1}^{\frac{\kappa}{2}} \alpha_j b_j}}{\pi^{\rho-1} \sqrt{D} \prod_{j=1}^{\frac{\kappa}{2}} M_j} \int_0^{\infty} \tilde{V}(\xi) \frac{J_{\frac{\kappa}{2} + \rho + 1}(2\pi\sqrt{\xi}x)}{\xi^{\frac{\kappa}{4} + \frac{\rho+1}{2}}} d\xi = \frac{x^{\rho}}{\Gamma(\rho+1)} a_0$$

and thus from (5) immediately follows (3). Using (6) for $\alpha = 0$, we can rewrite (5) in the form

$$(6') \quad A_{\rho}(x) = \frac{x^{\frac{\kappa}{4} + \frac{\rho+1}{2}} e^{2\pi i \sum_{j=1}^{\frac{\kappa}{2}} \alpha_j b_j}}{\pi^{\rho-1} \sqrt{D} \prod_{j=1}^{\frac{\kappa}{2}} M_j} \int_0^{\infty} \tilde{A}(\xi) \frac{J_{\frac{\kappa}{2} + \rho + 1}(2\pi\sqrt{\xi}x)}{\xi^{\frac{\kappa}{4} + \frac{\rho+1}{2}}} d\xi .$$

Using Theorem 1 we can now deduce a basic relation for the O -estimates:

Theorem 2. Let $\sigma = 1, \kappa \geq 5$ 2) and

$$(7) \quad \tilde{P}(x) = O(x^{\alpha}) \quad 3)$$

then

$$(8) \quad P(x) = O(x^{\frac{\kappa}{2} - 1 + \frac{\kappa - 3 - 2\alpha}{\kappa - 3 - 4\alpha}}) \quad \text{for } \alpha > \frac{\kappa}{4} - \frac{1}{4} ,$$

2) Let us note that, for $2 \leq r \leq 4$ and for $\alpha \geq \frac{\kappa}{2} - \frac{\kappa}{\kappa-1}$, $r = 5, 6, \dots$, we cannot obtain on the base of this method any better result than Landau's estimation $O(x^{\frac{\kappa}{2} - \frac{\kappa}{\kappa+1}})$.

3) According to (1) is $\alpha \geq \frac{\kappa}{4} - \frac{1}{4}$ as $A(x) \neq 0$ and thus according to (6') also $\tilde{A}(x) \neq 0$. Obviously (see (1)) we can assume that $\alpha \leq \frac{\kappa}{2} - \frac{\kappa}{\kappa+1}$.

$$(9) \quad P(x) = O(x^{\kappa/4 + 1/4} \lg x) \text{ for } \alpha = \kappa/4 - 1/4.$$

If (7) holds with symbol σ^4 , also (8) holds with the symbol σ .

Proof. We shall use the usual Landau's procedure (see [2], pp.25-29). Let $x > c$ and $\tilde{P}(x) \ll x^\alpha \varphi(x)$, where we consider the following cases:

- a) $\varphi(x) \equiv 1$ (if (7) holds and $\alpha > \kappa/4 - 1/4$),
- b) $\varphi(x) \equiv 1$ (if (7) holds with $\alpha = \kappa/4 - 1/4$),
- c) $\varphi(x)$ is a positive function, $\varphi(x) = \sigma(1)$ (if (7) holds with symbol σ - let us note, that we can assume that the function $\varphi(x)$ is defined for $x > c$ and is continuous and decreasing).

Let $\rho = [2\alpha + 1/2] + 1$ and let $z = z(x)$ be a positive function defined for $x > c$, $z \leq \sqrt{x}$ (for $x > c$) and $z(x) = \sigma(\sqrt{x})$. Thus, $\rho > \kappa/2$, $\alpha - \kappa/4 - 3/4 - \rho/2 < -1$ and (for $x > c$) $0 < \rho z < x$, $\lim_{x \rightarrow +\infty} t(x) = +\infty$, where $t = t(x) = \sqrt{x/z^2}$. We put

$$\Delta_x f(x) = \sum_{j=0}^{\rho} (-1)^{\rho-j} \binom{\rho}{j} f(x+jz).$$

It is easy to ascertain that for $y > 0$ holds

$$\Delta_x x^{\kappa/4 + \rho/2} J_{\kappa/2 + \rho + 1}(2\pi\sqrt{yx}) \ll \frac{x^{\kappa/4}}{y^{1/4}} (\min(x, x^2 y))^{\rho/2}$$

(see [2], p.25). From (3) we now obtain

$$\Delta_x P_\rho(x) - a_0 x^\rho \ll \int_0^\infty |\tilde{P}(\xi) - \tilde{a}_0| \frac{x^{\kappa/4} \min^{\rho/2}(x, x^2 \xi)}{\xi^{\kappa/4 + 3/4 + \rho/2}} d\xi \ll$$

4) According to (1) then $\alpha > \kappa/4 - 1/4$.

$$\ll \int_0^{\tilde{\lambda}_1} \dots d\xi + \int_{\tilde{\lambda}_1}^t \dots d\xi + \int_t^{t^2} \dots d\xi + \int_{t^2}^{\infty} \dots d\xi \ll$$

$$\ll x^{\frac{\kappa+1}{4}} z^{\rho} \int_0^{\tilde{\lambda}_1} \xi^{\alpha-\frac{3}{4}-\frac{3}{4}} d\xi + x^{\frac{\kappa+1}{4}} z^{\rho} \int_{\tilde{\lambda}_1}^t \xi^{\alpha-\frac{3}{4}-\frac{3}{4}} d\xi +$$

$$+ x^{\frac{\kappa+1}{4}} z^{\rho} \varphi(t) \int_t^{t^2} \xi^{\alpha-\frac{3}{4}-\frac{3}{4}} d\xi + x^{\frac{\kappa+1}{4}} \varphi(t^2) x^{\rho/2} \int_{t^2}^{\infty} \xi^{\alpha-\frac{3}{4}-\frac{3}{4}-\rho/2} d\xi$$

(for $0 < \xi < \tilde{\lambda}_1$ we used the estimate $\tilde{P}(\xi) -$

$-\tilde{\alpha}_0 \ll \xi^{1/2}$, for $\xi \geq \tilde{\lambda}_1$ the estimate $\tilde{P}(\xi) -$

$-\tilde{\alpha}_0 \ll \xi^{\alpha} \varphi(\xi)$). Thus, we can write

$$(10) \quad \Delta_x P_{\rho}(x) - \alpha_0 z^{\rho} \ll x^{\rho} x^{\frac{\kappa+1}{4}} t^{2(\alpha-\frac{3}{4}+\frac{1}{4})} \lambda(t)$$

where

a) $\lambda(t) \equiv 1$, b) $\lambda(t) \equiv \lg t$, c) $\lambda(t)$

is a positive continuous and decreasing function, $\lambda(t) = o(1)$ for $t \rightarrow +\infty$.

For a suitable $\xi \in (x, x + \rho x)$ holds

$$\begin{aligned} \Delta_x x^{\frac{\kappa}{2}+\rho} &= x^{\rho} (\frac{\kappa}{2}+\rho)(\frac{\kappa}{2}+\rho-1)\dots(\frac{\kappa}{2}+1) \xi^{\frac{\kappa}{2}} = x^{\rho} (\frac{\kappa}{2}+\rho)(\frac{\kappa}{2}+\rho-1)\dots \\ &\dots (\frac{\kappa}{2}+1) x^{\frac{\kappa}{2}} + O(x^{\frac{\kappa}{2}-1} x^{\rho+1}) = x^{\rho} (\frac{\kappa}{2}+\rho)(\frac{\kappa}{2}+\rho-1)\dots(\frac{\kappa}{2}+1) (x+\rho x)^{\frac{\kappa}{2}} + \\ &+ O(x^{\frac{\kappa}{2}-1} x^{\rho+1}) \end{aligned}$$

and thus

$$(11) \quad \begin{aligned} \Delta_x V_{\rho}(x) &= x^{\rho} V(x) + O(x^{\frac{\kappa}{2}-1} x^{\rho+1}) \\ \Delta_x V_{\rho}(x) &= x^{\rho} V(x + \rho x) + O(x^{\frac{\kappa}{2}-1} x^{\rho+1}). \end{aligned}$$

The function $\eta A(x)$ is nonnegative and nondecreasing ($\eta = e^{-2\pi i \sum_{j=1}^{\kappa} \alpha_j b_j}$).

For $x_\rho \in \langle x, x + \rho z \rangle$ thus holds

$$\eta A(x) \leq \eta A(x_\rho) \leq \eta A(x + \rho z)$$

and as well

$$(12) \quad z^\rho \eta A(x) \leq \Delta_z \eta A_\rho(x) = \\ = \int_x^{x+\rho z} \left[\int_{x_1}^{x_1+\rho z} \left[\dots \int_{x_{\rho-1}}^{x_{\rho-1}+\rho z} \eta A(x_{j\rho}) dx_{j\rho} \right] dx_{\rho-1} \dots \right] dx_1 \leq \eta z^\rho A(x + \rho z).$$

If we now use (10) and (11) we obtain from the relation (12)

$$(13) \quad \eta A(x) \leq \eta V(x) + O(x^{\frac{1}{2}-1} z) + O(x^{\alpha+\frac{1}{2}} z^{\frac{1}{2}-\frac{1}{2}-2\alpha} \lambda(\sqrt{x/z^2}))$$

and

$$(14) \quad \eta A(x + \rho z) \geq \eta V(x + \rho z) + O(x^{\frac{1}{2}-1} z) + O(x^{\alpha+\frac{1}{2}} z^{\frac{1}{2}-\frac{1}{2}-2\alpha} \lambda(\sqrt{x/z^2})).$$

Put $z = x^{\frac{4-3-2\alpha}{4-3-4\alpha}} \psi(x)$; where $\psi(x) = \lambda^{\frac{2}{4-3-4\alpha}}(x)^{\frac{\kappa-3}{8\alpha+6-4\alpha}}$.

According to remark 3) is for $x > c$ certainly $0 < z \leq \sqrt{x}$, $x(x) = \sigma(\sqrt{x})$ ($4\alpha + 3 - \kappa > 0$,

$\frac{\kappa-3-2\alpha}{\kappa-3-4\alpha} < 1/2$). For simplicity, let us write $y = y(x) = x + \rho z$. From (13) and (14) we obtain

$$\eta A(x) \leq \eta V(x) + O(x^{\frac{\kappa}{2}-1+\frac{\kappa-3-2\alpha}{\kappa-3-4\alpha}} \psi(x))$$

$$\eta A(y) \geq \eta V(y) + O(x^{\frac{\kappa}{2}-1+\frac{\kappa-3-2\alpha}{\kappa-3-4\alpha}} \psi(x)) \geq$$

$$\geq \eta V(y) + O(y^{\frac{\kappa}{2}-1+\frac{\kappa-3-2\alpha}{\kappa-3-4\alpha}} \psi(x)).$$

If we consider that for $x > c$ is y a continuous function of x , $y \rightarrow +\infty$ for $x \rightarrow +\infty$ we obtain

immediately all the assertions of Theorem.

On the base of the Landau's identity (4) the estimation (8) of Theorem 2 may be slightly improved in some special cases.

Theorem 3. Let $\sigma = 1$, $\kappa \geq 4$, $n \ll \tilde{\lambda}_n \ll n$ ($n = 1, 2, \dots$) and

$$(15) \quad \tilde{P}(x) = O(x^\alpha).$$

Then

$$(16) \quad P(x) = O(x^{\frac{\kappa}{2}-1 + \frac{\kappa-3-2\alpha}{\kappa-5-4\alpha}}).$$

If (15) holds with symbol σ , (16) also holds with symbol σ .

Proof. If $\tilde{P}(x) = O(x^\alpha)$, where $\alpha \geq \frac{\kappa}{2} - 1$ or $\tilde{P}(x) = o(x^\alpha)$, where $\alpha > \frac{\kappa}{2} - 1$ then, according to (1), the assertion is trivially satisfied. Let $\tilde{P}(x) = o(x^{\frac{\kappa}{2}-1})$ and $\tilde{\sigma} \neq 0$. First $\langle \tilde{\lambda}_n \rangle \gg n$, $\tilde{\lambda}_n = \sum_{k=2}^n (\tilde{\lambda}_k - \tilde{\lambda}_{k-1}) + \tilde{\lambda}_1$, there exists such a constant c that the inequality $\tilde{\lambda}_{n+1} - \tilde{\lambda}_n > c$ is valid for infinitely many natural n ; i.e. for infinitely many n holds $\tilde{A}(\tilde{\lambda}_n + c) = \tilde{A}(\tilde{\lambda}_n)$,

$$|\tilde{P}(\tilde{\lambda}_n + c) - \tilde{P}(\tilde{\lambda}_n)| = |\tilde{V}(\tilde{\lambda}_n + c) - \tilde{V}(\tilde{\lambda}_n)| \gg \tilde{\lambda}_n^{\frac{\kappa}{2}-1} \gg n^{\frac{\kappa}{2}-1}.$$

This is a contradiction with $|\tilde{P}(\tilde{\lambda}_n + c) - \tilde{P}(\tilde{\lambda}_n)| = o(m^{\frac{\kappa}{2}-1})$ (for $n \rightarrow \infty$) i.e. $\tilde{\sigma} = 0$, $\tilde{A}(x) = \tilde{P}(x)$. If (15) holds, then $\tilde{\alpha}_n = \tilde{A}(\tilde{\lambda}_n) - \tilde{A}(\tilde{\lambda}_{n-1}) = O(n^\alpha)$ (for $n \rightarrow \infty$) and similarly with the symbol σ i.e. we have

$\tilde{\alpha}_n \ll n^\alpha \varphi(n)$, where $\varphi(x) \equiv 1$ or $\varphi(x)$ is a positive continuous and decreasing function, $\varphi(x) = \sigma(1)$. Then $(\rho = [2\alpha + \frac{1}{2}] + 1 > \frac{k}{2}$, $x = x(x)$ is a positive function, $x(x) = \sigma(\sqrt{x})$, $t = \sqrt{\frac{x}{x^2}}$) according to (4)

$$\Delta_x P(x) \ll x^{\frac{k}{4} - \frac{1}{4}} \sum_{n=1}^{\infty} n^{\alpha - \frac{k}{4} - \frac{\rho}{2} - \frac{1}{4}} \varphi(n) \min(x, nx^2)^{\frac{\rho}{2}} \ll$$

$$\ll x^{\frac{k}{4} - \frac{1}{4}} (x^\rho \sum_{n \leq t} n^{\alpha - \frac{k}{4} - \frac{1}{4}} + \varphi(t) \sum_{t \leq n \leq t^2} n^\rho n^{\alpha - \frac{k}{4} - \frac{1}{4}} +$$

$$+ \varphi(t^2) x^{\frac{\rho}{2}} \sum_{n > t^2} n^{\alpha - \frac{k}{4} - \frac{\rho}{2} - \frac{1}{4}}) \ll x^{\frac{k}{4} - \frac{1}{4}} x^\rho t^{2(\alpha - \frac{k}{4} + \frac{3}{4})} \lambda(t),$$

where $\lambda(x) \equiv 1$ (for $\varphi(x) \equiv 1$) or $\lambda(x)$ is a positive continuous and decreasing function, $\lambda(x) = \sigma(1)$ (in the second case). If we put

$$x = x^{\frac{k-3-2\alpha}{k-5-4\alpha}} \lambda^{\frac{1}{2\alpha+5/2-k/2}} (x^{\frac{k-1}{8\alpha+4-2k}})$$

we obtain easily, that x satisfies the conditions mentioned above and

$$x^{\frac{k-1}{2}} x + x^{\frac{k}{4} - \frac{1}{4}} t^{2(\alpha - \frac{k}{4} - \frac{3}{4})} \lambda(t) \ll x^{\frac{k}{2} - 1 + \frac{k-3-2\alpha}{k-5-4\alpha}} \lambda^{\frac{2}{4\alpha+5-k}} (x^{\frac{k-1}{8\alpha+4-2k}}).$$

Analogously as in proof of Theorem 2 we obtain now immediately the assertions of Theorem 4.

Remark. Theorem 3 gives better results than Theorem 2 (than Landau's estimation (1)) only for $\alpha > \frac{k}{2} - \frac{3}{2}$ ($\alpha < \frac{k}{2} - 1$ or $\tilde{P}(x) = \sigma(x^{\frac{k}{2}-1}$). For $r = 2$ and $r = 3$ the Theorem 3 does not give new results.

Remark. If the assumption $\sigma = 1$ does not hold, the transition from the function $A_p(x)$ to the function $A(x)$ is not so simple. Let us denote $\tilde{A}^\circ(x) = \tilde{A}(x; \tilde{Q}, l_j, 0, M_j)$, $A^\circ(x) = A(x; Q, 0, l_j, M_j)$ and let $\tilde{V}^\circ(x)$, $\tilde{P}^\circ(x)$ etc. have the same meaning. Let $\alpha >$

$$> \frac{\kappa}{4} - \frac{1}{4} \quad \text{and}$$

$$(17) \quad \tilde{P}^\circ(x) = O(x^\alpha), \quad \tilde{P}(x) = O(x^\alpha) .$$

From the proof of Theorem 2 we obtain (all the time we preserve the notation from the corresponding theorem and its proof) $P^\circ(x) = O(x^\beta)$, where $\beta = \frac{\kappa}{2} - 1 + \frac{\kappa - 3 - 2\alpha}{\kappa - 3 - 4\alpha}$; from (10) (derived without assuming $\sigma = 1$) and (11) we obtain

$$(18) \quad \Delta_z A_p(x) = z^p V(x) + O(x^\beta z^p) .$$

However

$$\begin{aligned} |\Delta_z A_p(x) - z^p A(x)| &= \left| \int_x^{x+z} \left[\int_{x_1}^{x_1+z} \dots \int_{x_{p-1}}^{x_{p-1}+z} (A(x_p) - A(x)) dx_p \right] dx_{p-1} \dots dx_1 \right| \\ &\leq z^p \sum_{x < Q(m_j M_j + l_j) \leq x + pz} 1 = \\ &= z^p (A^\circ(x + pz) - A^\circ(x)) \ll z^p (x^{\frac{\kappa-1}{2}} z + x^\beta) \ll z^p x^\beta \end{aligned}$$

and thus using (18)

$$P(x) = O(x^\beta) .$$

We proceed analogously if (17) takes place with the symbols σ , for $\alpha = \frac{\kappa}{4} - \frac{1}{4}$ and or for Theorem 3.

In the papers [3] and [4] were - as well as some others - derived the following results:

Let $r > 4$ and let the form Q have integer coefficients, let $b_1, b_2, \dots, b_\kappa$ be integers, $M_1, M_2, \dots, M_\kappa$ natural

numbers. Then holds:

$$a) \quad P(x) = O(x^{\frac{n}{2}-1}) .$$

b) If at least one of the numbers $\alpha_1, \alpha_2, \dots, \alpha_n$ is irrational, then

$$P(x) = O(x^{\frac{n}{2}-1}) .$$

c) For almost all systems $\alpha_1, \alpha_2, \dots, \alpha_n$ (in the sense of Lebesgue measure in r -dimensional Euclidean space E_n) there is

$$P(x) = O(x^{\frac{n}{4}+\varepsilon})$$

for every $\varepsilon > 0$.

d) If γ is the supremum of all numbers $\beta > 0$, for which the inequalities

$$|\alpha_j M_j k - p_j| \leq k^{-\beta}, \quad j = 1, 2, \dots, n$$

have an infinite number of solution in integers $k > 0$,

$$p_1, p_2, \dots, p_n, \quad f = \left(\frac{n}{4} - \frac{1}{2} \right) \frac{2\gamma+1}{\gamma+1} + \frac{1}{2(\gamma+1)}$$

(for $\gamma = +\infty$ let $f = n/2 - 1$) then for every $\varepsilon > 0$ holds the estimate

$$(19) \quad P(x) = O(x^{f+\varepsilon}) .$$

e) Let $r > 5$, $\alpha_1 = \alpha_2 = \dots = \alpha_n$ and let γ be the supremum of all numbers $\beta > 0$, for which the inequality

$$|\alpha_1 k - p| \leq k^{-\beta}$$

has an infinite number of solutions in integers $k > 0$,

$$p; \quad f = \left(\frac{n}{4} - \frac{1}{2} \right) \frac{2\gamma+1}{\gamma+1} \quad (\text{for } \gamma = +\infty \text{ let } f = \frac{n}{2} - 1).$$

Then for every $\varepsilon > 0$ holds (19) and the value of f in in this estimate cannot be generally decreased: e.g. for

$b_1 = b_2 = \dots = b_n = 0$ we have for every $\varepsilon > 0$ also

$$P(x) = \Omega(x^{\rho - \varepsilon}).$$

If we consider that for $t > 0$ is

$$(20) A(x; Q, \alpha_j, \ell_j, M_j) = A(t^3 x; tQ, \frac{\alpha_j}{t}, t\ell_j, tM_j)$$

it is possible (we interchange Q, α_j, ℓ_j, M_j and $\tilde{Q}, b_j, -\alpha_j, 1/M_j$) from the assertions a) - d) derive the same estimates for the function $\tilde{P}(x)$ assuming that $\sigma = 1, M_1, M_2, \dots, M_n$ natural; $r > 4$ (for d) $r > 5$) and for forms Q with integer coefficients ⁵⁾ and thus using Theorem 2 or Theorem 3 ⁶⁾ to prove the following results:

Theorem 4. Let $r > 4, \sigma = 1$ and let the coefficients of the form Q be integers and M_1, M_2, \dots, M_n natural numbers. Let at least one of numbers b_1, b_2, \dots, b_n be irrational. Then

$$P(x) = O(x^{\frac{r}{2} - \frac{n}{n+1}}).$$

5) According to (20) it is possible to generalize these assumptions.

6) Under the assumptions of Theorem 4 it is clear that

$\tilde{\alpha}_n \gg n$. According to (20) and to assertion a) is $B(x) = A(x; \tilde{Q}, 0, -\alpha_j, \frac{1}{M_j}) = c x^{\frac{r}{2}} + O(x^{\frac{r}{2} - 1})$ and thus $B(\tilde{\alpha}_n) - B(\tilde{\alpha}_n - \varepsilon) = B(\tilde{\alpha}_n) - \lim_{\varepsilon \rightarrow 0^+} B(\tilde{\alpha}_n - \varepsilon) \ll \tilde{\alpha}_n^{\frac{r}{2} - 1}$. Herefrom we immediately obtain $B(\tilde{\alpha}_n) = c \tilde{\alpha}_n^{\frac{r}{2}} + O(\tilde{\alpha}_n^{\frac{r}{2} - 1}) \ll n \tilde{\alpha}_n^{\frac{r}{2} - 1}$ i.e.

$\tilde{\alpha}_n \ll n$. We can conclusively use Theorem 3 and assertion c). Theorem 5 follows from assertion b) and Theorem 2; the consequences of assertions d) and e) are not explicitly presented.

Theorem 5. Let $r > 5$, $\sigma = 1$ and let the coefficients of the form Q be integers, M_1, M_2, \dots, M_k natural numbers. Then for almost all systems b_1, b_2, \dots, b_k (in the sense of Lebesgue measure in the r -dimensional Euclidean space E_k) is

$$P(x) = O(x^{\frac{r}{3} + \varepsilon})$$

for every $\varepsilon > 0$.

Acknowledgment. The author is indebted to Professor V. Jarník for several remarks concerning the paper.

R e f e r e n c e s

- [1] A. KRAZER: Lehrbuch der Thetafunktion, Leipzig 1903.
- [2] E. LANDAU: Ausgewählte Abhandlungen zur Gitterpunktlehre, Berlin 1962.
- [3] B. NOVÁK: Verallgemeinerung eines Petersson'schen Satzes und Gitterpunkte mit Gewichten, Acta Arithmetica XIII(1968), 423-454.
- [4] B. NOVÁK: On the lattice points with weight in high-dimensional ellipsoids, Acta Arithmetica XIV(1968), 371-397.
- [5] B. NOVÁK: A remark on the theory of lattice points in ellipsoids, Comment. Math. Univ. Carol. 8(1967), 219-230.
- [6] В.А. ДИТКИН; А.П. ПРУДНИКОВ: Интегральные преобразования и операционное исчисление, Москва 1961.

(Received March 1, 1968)